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1. Let !:	ℤ → 	ℤ be such that !(') = ' + 1. Is ! invertible, and if it is, what is its inverse? 

 

 

 

 

2. Let !:	ℝ → 	ℝ be such that !(') = '!. Is ! invertible? 

 

 

 

3. The definition of the Floor function and the Ceiling function: 

   (a) The _________ function, denoted by ______, assigns to real number ' the _________  

        integer that is _____________ or __________ '. That is, ⌊.⌋ = largest integer ≤ .. 

       ⌊1.5⌋ = _______.  ⌊0.2⌋ = _______. ⌊2⌋ = _______. ⌊−1.5⌋ = _______. ⌊−3⌋ = _______. 
 

 

 

 

   

 

 

  (b) The _________ function, denoted by ______, assigns to real number ' the _________  

        integer that is _____________ or __________ '. That is, ⌈.⌉ = smallest integer ≥ .. 

        ⌈1.5⌉ = _______. ⌈0.2⌉ = _______. ⌈2⌉ = _______. ⌈−1.5⌉ = _______. ⌈−3⌉ = _______. 
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1. The introduction of a Sequence:  

    A ______________ is a discrete structure to represent an ___________ list. For example,  

   1, 2, 4, 8, 16 is a sequence with _____ terms and 1, 2, 4, 8, 16,⋯ , 2", ⋯ is an __________ one. 

 

2. Differences between sequences and sets:  

    The ________ matters in sequences:  sequence 1, 3, 5, 7, 9 ______ sequence 5, 3, 1, 7, 9, but  

                                                                 set {1, 3, 5, 7, 9} ______ set {5, 3, 1, 7, 9}. 
    The meaning of repeated number: 2, 2, 2, 2 is a sequence with four terms but set {2, 2, 2, 2} is  

                                                           essentially _____.  

3. The definition of a Sequence: 

    A sequence is a ___________ from the input {1, 2,⋯ , D,⋯ } to the output {E#, E!, ⋯ , E", ⋯	}  
    which E" represents the D$%	_______ of the sequence and the sequence is denoted by ______. 

 

4. Define a Sequence by Explicit Formula E" = !(D):  
    When a sequence is defined in an _________ formula !(D), the value of the F$% term E& in  

    this sequence can by computed by !(F).  
 

5. Consider the sequence {E"}, where E" = #
". Then list the first four terms of the sequence,  

    beginning with E#. 

 

 

6. List the first five terms E', E#, ⋯ , E( of the sequence {E"}, where E" = G"!H. 
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